Dammam Community College
MATH 012  

Past Exam Questions

Section 10.1 (Parabola)
1. Find the coordinates of the focus of the parabola that passes through the origin and the points 
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Answer: 
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2. Find the equation of the parabola with focus at 
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 and directrix 
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Answer: 
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3. Find the equation in standard form of the parabola that has vertex 
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, has its axis of symmetry parallel to the x-axis, and passes through the point 
[image: image8.wmf](4,3)

.  
Answers: 
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4. If a parabola has equation 
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 and the coordinates of its vertex is 
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Find the value of k.  
Answer: 
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5. If a parabola has equation 
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 a focus at 
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, and its directrix is vertical and passes through 
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 Find the values of a, b, and c.
Answer: 
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6. Find the equation in the standard form of the parabola that has vertex 
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, has its axis of symmetry parallel to the x-axis, and passes through the point 
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Answer: 
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    (P.S. This question has been repeated twice during the past 3 years)

7. Find the vertex, focus, and directrix of the parabola given by the equation 
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Answer: 
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8. Given the parabola 
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:
a) Write its equation in standard form.
b) Find the coordinates of its focus.
c) Find the equation of its directrix.
d) Find the equation of its axis of symmetry.
e) [image: image25.wmf]2
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Sketch its graph showing its focus, vertex, axis of symmetry and directrix. 

Answers: 
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9. If the graph of the parabola 
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 intersect at only one point, then the value of   k  is equal to:
Answer: 
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With complements of Dr. Ali Al-Karkhy
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